
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9 10G .=  7 90R .=  

7 87A .=  9 30R .=  

8 01A .=  9 90U .=  

9 92K .=  7 77G .=  

7 91B .=  7 70A .=  

9 20E .=  9 21T .=  

9 91C .=   

Put the numbers in order from smallest to largest.  Put the letter that goes with the first number in 

the first box.  Put the letter that goes with the second number in the second box, and so on.  If you 

put the numbers and corresponding letters in the right order, you will solve the riddle. 

 

    

   

   

 

       

     

Activity 17: (Fill-in all the blanks!) 


